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QUESTION 1

What does a client need for it to perform EAP-TLS successfully? (Select two.) 

A. Username and Password 

B. Server Certificate 

C. Pre-shared key 

D. Certificate Authority 

E. Client Certificate 

Correct Answer: BE 

Reference: https://community.arubanetworks.com/t5/AAA-NAC-Guest-Access-BYOD/Binary-comparison-in- EAP-
TLSAuthentication/ta-p/257857 https://community.arubanetworks.com/t5/AAA-NAC-Guest-Access-BYOD/Binary-
comparison-in- EAP-TLSAuthentication/ta-p/257857 

 

QUESTION 2

Which ClearPass feature is used for endpoint compliance and client health status? 

A. Posture 

B. Onboard 

C. Profiling 

D. Captive Portal 

E. RADIUS COA 

Correct Answer: B 

 

QUESTION 3

Refer to the exhibit. 
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Based on the information shown, why did the Joining AD fail? 

A. the GSS is wrong 

B. the wrong FQDN of the AD was entered while joining 

C. thewrong domain name was selected while joining the AD 

D. there is a clock difference between ClearPass and AD servers 

E. there is an IP communication issue 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 
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Under which option on the Receipt page can SMS delivery be enabled? 

A. Footer 

B. Form 

C. Actions 

D. Title 

E. Header 

Correct Answer: C 

 

QUESTION 5

A ClearPass deployment needs to be designed to determine which department the employee is in on the Active
Directory Server and whether the user\\'s device is a computer or smart device. Which Policy Manager components will
the network administrator need to use? (Choose three.) 

A. Posture 

B. Onboard 

C. Profiler 

D. Enforcement 

E. Authorization 

F. Authentication 
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Correct Answer: BCF 
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